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before: [1, 2, 3, 4, 5]
after: [1, 1, 1, 1, 1]
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public static boolean success (int num)

.{
int sum = @, // vepw miTigp: o
counts = 0O; /Y "Ri +6 uw miv-TEn qzon
boolean tenPoints = false; // ‘=1 10 =w nu 37 ©- ox noa nene
int score; Jf memoian onpebpa Tiptan
for (dnt i =1 ; i <= num ; i++)
{
System.out.print("type score #" + i + " --> ");
score = Input.nextInt();
sum += SCOre;
if (score >= &) counté ++;
if (score == 10) tenPoints = true;
¥
double avgScore = sum / num;
if (avgScore > 5) return true;
if (counté > num/2) return true;
return tenPoints; /0 "gr 10 -2% papen AmeTaa W8 T®ID a3 TU9In 8% O
F
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public static int discount (int age, int num, boolean city)

{

int dl1 = 2, d2 = 2, d3 = 2; //  nitmox 22397 amian T

if (age >= 70) d3
if (num >= 3) d2

if (ecity) di1 = 1; //  if (city == true)
return d3x100 + d2%10 + di;

J/ d3 for age

1;
1; // d2 for num of children
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public int deltas (boolean isLonger)

{
int sum = 0@;
int diff;
if (isLonger) J/  .nx¥ina avan
{
/7 OTI@N 017an 1718 1NTa 0
for (int 1 = 1; i < this.arr.length; i++)
{
diff = arr[i] - arr[i-1];
if (diff > 0)
sum += diff;
}
}
else [/ IRYIN1 11970
{
/7 DTI1@n D17'3an ¥R 1Tl AT
for (int 1 = 1; i < this.arr.length; i++)
{
diff = arr[i] - arr[i-1]; [/ diff = arr[i-1] - ar
if (diff < 0) //  1f (diff > 0)
sum += Math.abs(diff); /Y sum += diff;
}
}
return sum;
}
ff — (2) 4 nex=w —
ff —- NTITON NIXYINA 11970 20 OX NNX N7 TANN 7109 ———
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public boolean improving()

1
return deltas(false) = deltas(true);
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public static void first(Parking[] cars)
{

MyTime frst = cars[0].getIn();
int place = 0O;

for (int 1 = 1 ; i < cars.length ; i++)

on

n7apghnn n21vs ——

5 ndke

n® No*oTnNl ——

" + cars[place].getId());

{
if (cars[i].getIn().before(frst))
{
frst = cars[i].getIn();
place = i;
¥
}
System.out.println("first car id:
}
[/ — (1 - 2) 5 nexo
//—— nx ntmmn Parking ngenna nontis n?ivg ——-
[/ — N MW3711N0 NT113n0 20 NIRTI 0" 100 Jon

public int total ()

0 -

{
return this.in.diff(this.out);
}
/= (2 - 1) 5 nexu -
,"f,"f——— n¥E NA*TMN1T N173112100 70N DX N2aEnn 2108 —
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public static int sumMoney (Parking[] cars)
{
int sumMin = 0;
int carTime;
for (int i = ® ; i < cars.length ; i++)
1
carTime = cars[i].total();
if (carTime > 120)
sumMin += carTime - 120;
}
return sumMin; // n9i1p? 101230 DoZRon 'on = nipTa ‘on O
}
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public static String originalText (String str, int[Jarr)

1
char[]letters = new char [str.length()];

int p;
for (int i = 8 ; i < arr.length ; i++)
{

p = arr[i];

letters[p] = str.charAt(i);

String decode = "";
for (int i = 0 ; i < letters.length ; i++)
decode += letters[i];

return decode;

public static void main(String[] args)

{
String str = "rdoWl"; World
int [] arr = {2,4,1,0,3};
System.out.println(eriginalText(str, arr));
String strl = "dyutsS"; Study
int [] arrl = {3,4,2,1,0};
System.out.println(originalText(strl, arrl));
}
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